
Be sure to read the instruction carefully before starting the work. It is necessary to follow the contents to install Yoshimura product.

Parts Diagram

3.  Contents:

1.  Product Information :

SUZUKI RAIDER R150 TIS FULL SYSTEM GP-MAGNUM

Lot Number

1

2

4 5

6

8

9

7

3

TIS Number

Vehicle Name

No.                         Descriptions                                    Part No.         Q'ty   No.                Descriptions                          Part No.         Q'ty 
1

2

3
4

5
6 
7 
8 
9

1T1-100-5U00
1T6-100-5U50
1T6-100-5U80

1T6-100-5U80B
161-366-0200-01

803-206-4020

812-206-1310 
823-006-1000
800-208-5040
812-108-2600
118-001-0000

Exhaust Pipe 
Silencer Assy Stainless Sleeve
Silencer Assy Titanium Sleeve 
Silencer Assy Titanium Blue Sleeve
Silencer Bracket
Button Bolt M6x20

Washer M6x13
Flange Nut M6
Cap Bolt M8x40
Washer M8x26 
Exhaust Spring

1 

1

1
2

2 
2 
1 
1 
2

Part Number
Stainless Sleeve        (SS)
Titanium Sleeve         (ST)
Titanium Blue Sleeve (STB)

: 1T0A-100-5U50
: 1T0A-100-5U80
: 1T0A-100-5U80B

Description SUZUKI RAIDER R150 TIS Full System GP-MAGNUM Cyclone Type 
Main Material

S100SCI11 
Stainless steel
(SS)  
(ST) & (STB)

: 2.5kg 
: 2.3kg

Weight
    [STD : 3.7kg]

2.  Applicable Model :
Model SUZUKI RAIDER R150

Before beginning installation, let motorcycle cool down.

Titanium Blue sleeve is colored by anodizing. Handle with care as the color may change. When 
cleaning silencer, use soft cloth with dish soap but do not use metal polish or chemical cleaner. 

CAUTION

Be sure not to damage each part during installation. 

Torque specification must be followed. If neglected, it may cause bolt and nut to fall off and damage to 
Yoshimura product and motorcycle.

CAUTION

CAUTION

CAUTION

180612 RAIDER R150 TIS GP-MAGNUM 1/5

YOSHIMURA ASIA CO., LTD.    PRODUCT INSTALLATION INSTRUCTION  MANUAL



②サイレンサー

取り付けの詳細はFIG.10 

を参照して下さい

⑧マフラースプリング

Ｏ２センサーカプラー

３.取付方法

！注意 ※作業時は部品を損傷しないよう注意して作業を行なって下さい。

※ボルト、ナット締め付けの際は必ず規定トルクを守って下さい。

　ボルト、ナットの脱落・製品の破損の原因になります。

　１．セット内容を確認して下さい。

ＦＩＧ．１

ＦＩＧ．９

ＦＩＧ．１０

ＦＩＧ．１１

ＦＩＧ．１２

ＦＩＧ．８

ＦＩＧ．５

ＦＩＧ．４

ＦＩＧ．２

ＦＩＧ．３

　２．サービスマニュアルを参照して車両からサイドカウル、

　　　アンダーカウルを外し、純正マフラーのＯ２センサーの

　　　カプラーを外して下さい。

　　　次に、フレーム等を損傷しないように注意しながら純正

　　　マフラーを車両から取り外して下さい。

　　　（ＦＩＧ．１，２参照）

　４．エンジンの排気ポート部に取り付けられているエキゾー

　　　ストガスケットを新品に交換し、①エキゾーストパイプ

　　　を純正ボルトを使用して車両に仮締めして下さい。

　　　（ＦＩＧ．４，５参照）

　６．②サイレンサーを①エキゾーストパイプに取り付けてから⑧マフラースプリングを取り付けて下さい。

　　　（ＦＩＧ．８，９参照）

　３．純正マフラーからＯ２センサーを取り外し、①エキゾー

　　　ストパイプに規定トルクで締め付けて下さい。

　　　（ＦＩＧ．３参照）

純正ボルト

①エキゾーストパイプ

　７．②サイレンサーを⑦キャップボルトＭ８×４０、⑧平ワ

　　　ッシャＭ８×２６、純正ワッシャ、純正ナットを使用し

　　　て右側タンデムステップに仮締めして下さい。

　　　（ＦＩＧ．１０参照）

　８．サイレンサーの傾きや、車両とのクリアランスを調整し、

　　　仮締めしたボルト、ナットをエキゾーストパイプ→サイ

　　　レンサーステーの順に、規定トルクで締め付けて下さい。

　　　（ＦＩＧ．１１，１２参照）

　９．Ｏ２センサーのカプラーを取り付けて下さい。

規定トルク　エキゾーストパイプ　　　　　：１５Ｎｍ

　　　　　　サイレンサーステー（Ｍ６）　：１０Ｎｍ

　　　　　　サイレンサーステー（Ｍ６）　：２３Ｎｍ

！注意

１２．暖気運転を行なって排気漏れが無いことを確認し、エン

　　　ジンが完全に冷えてから各ボルトの増し締めを行なって

　　　下さい。

１１．取り外したカウルを元に戻して下さい。

１０．中性洗剤、ウエス等でマフラー全体を良く脱脂して下さ

　　　い。指紋などが付着したままエンジンを始動すると、色

　　　ムラとなって残ってしまうことがあります。

※メタルマジックカバーやエンブレムの色落ちの原因になり

　ますので、中性洗剤以外は使用しないで下さい。

！注意

車

両

内

側

車

両

外

側

車両前側から見た図

！注意 規定トルク　　Ｏ２センサー　　　　　　：２５Ｎｍ

①エキゾーストパイプ

Ｏ２センサー

①エキゾーストパイプ

①エキゾーストパイプ

②サイレンサー

①エキゾーストパイプ

Be sure to read the instruction carefully before starting the work. It is necessary to follow the contents to install Yoshimura product.

Parts Diagram

3.  Contents:

1.  Product Information :

SUZUKI RAIDER R150 TIS FULL SYSTEM GP-MAGNUM

Lot Number

1

2

4

5

6

8

9

7

3

TIS Number

Vehicle Name

No.                         Descriptions                                    Part No.         Q'ty   No.                Descriptions                          Part No.         Q'ty 

1

2

3

4 

5

6 

7 

8 

9

1T1-100-5U00

1T6-100-5U50

1T6-100-5U80

1T6-100-5U80B

1T6-100-5U90

161-366-0200-01

803-206-4020

812-206-1310 

823-006-1000

800-208-5040

812-108-2600

118-001-0000

Exhaust Pipe 

Silencer Assy Stainless Sleeve

Silencer Assy Titanium Sleeve 

Silencer Assy Titanium Blue Sleeve

Silencer Assy Carbon Sleeve

Silencer Bracket

Button Bolt M6x20 

Washer M6x13

Flange Nut M6

Cap Bolt M8x40

Washer M8x26 

Exhaust Spring

1 

1

1

2 

2 

2 

1 

1 

2

Part Number

Stainless Sleeve        (SS)

Titanium Sleeve         (ST)

Titanium Blue Sleeve (STB)

Carbon Sleeve           (SC)

: 1T0-100-5U50

: 1T0-100-5U80

: 1T0-100-5U80B

: 1T0-100-5U90

Description SUZUKI RAIDER R150 TIS Full System GP-MAGNUM Cyclone Type 

Main Material

S100SCI11 

Stainless steel

(SS)  

(ST) & (STB)

(SC)

: 2.5kg 

: 2.3kg

: 2.2kg

Weight
    [STD : 3.7kg]

2.  Applicable Model :

Model SUZUKI RAIDER R150

ＦＩＧ．７ＦＩＧ．６

④ボタンボルト

　M6×20

③サイレンサー

　ステー

⑤SUSワッシャ

　M6×13

⑥フランジナットM6

②サイレンサー

取り付けの詳細はFIG.7 

を参照して下さい

　５．②サイレンサーに④ボタンボルトＭ６×２０、⑤⑥ＳＵＳワッシャＭ６×１３、⑥フランジナットＭ

　　　６を使用して③サイレンサーステーを仮締めして下さい。（ＦＩＧ．６，７参照）

②サイレンサー

右側タンデム

ステップ

⑦キャップボルト

　Ｍ８×４０

純正ワッシャ

⑧平ワッシャ

　Ｍ８×２６

③サイレンサー

　ステー

純正ナット

Before beginning installation, let motorcycle cool down.

Titanium Blue sleeve is colored by anodizing. Handle with care as the color may change. When 

cleaning silencer, use soft cloth with dish soap but do not use metal polish or chemical cleaner. 

CAUTION

Be sure not to damage each part during installation. 

Torque specification must be followed. If neglected, it may cause bolt and nut to fall off and damage to 

Yoshimura product and motorcycle.

CAUTION

CAUTION

CAUTION

4.  Installation steps:

Fig. 1 Fig. 1 

Fig. 2Fig. 2

Fig. 3Fig. 3

Fig. 4Fig. 4 Fig. 5Fig. 5

180612 RAIDER R150 TIS GP-MAGNUM 2/5180612 RAIDER R150 TIS GP-MAGNUM 1/5 180612 RAIDER R150 TIS GP-MAGNUM 3/5 180612 RAIDER R150 TIS GP-MAGNUM 4/5

1) Check all the component parts are in hand.

2) According to SUZUKI service manual, remove side and 

under fairings.

3) Disconnect O2 sensor coupler. Then, remove stock 

exhaust system from vehicle (See Fig. 1 & 2).

4) Remove O2 sensor from stock exhaust system. Then, 

install it to Exhaust Pipe and tighten with stated torque 

(See Fig. 3).

5) Insert SUZUKI genuine new exhaust gasket on exhaust 

port. Then, insert Exhaust Pipe into exhaust port and fix it 

with stock bolts (See Fig. 4 & 5). Tighten bolts by hand 

only at this stage.

CAUTION When removing stock exhaust system, 

be careful not to damage frame and 

other components.

Stock bolts, washer and nut removed at 

this stage are reused when mounting 

Yoshimura exhaust system.

REFERENCE

O2 sensor coupler

O2 sensor

Tightening Torque

CAUTION Torque specification must be followed.

CAUTION Use SUZUKI genuine new gasket.

O2 sensor    : 25Nm

Exhaust Pipe

Exhaust Pipe

Exhaust Pipe Stock bolt

SUZUKI genuine new

exhaust gasket

6) Mount Silencer Bracket on Silencer Assy with 2 of each Button Bolt M6x20, Washer M6x13 and Flange Nut M6 

(See Fig. 6 & 7). Tighten bolts by hand only at this stage.

Fig. 6Fig. 6 Fig. 7Fig. 7

Silencer Bracket

Flange Nut M6

Silencer Assy

Washer M6x13

Button Bolt M6x20

Refer Fig. 7

for installation.

Silencer Assy

CAUTION Make sure that exhaust spring is hooked to spring installation tool firmly. If neglected, it may 

cause injury. 

7) Install Silencer Assy to Exhaust Pipe. Then, fix them with 2 of Exhaust Spring (See Fig. 8 & 9).

Fig. 8Fig. 8 Fig. 9Fig. 9

Silencer Assy

Exhaust Pipe

Exhaust SpringSilencer Assy

Exhaust Pipe

Fig. 10Fig. 10 Fig. 11Fig. 11

8) Then, mount Silencer Bracket to stock silencer bracket with Cap Bolt M8x40, Washer M8x26, stock washer and nut 

(See Fig. 10 & 11). Tighten bolt by hand only at this stage.

Refer Fig. 11

for installation.

OutsideInside

Sight from back

Silencer Bracket

Cap Bolt M8x40
Stock washer

Washer M8x26Stock silencer 

bracket

Stock nut

Fig. 12Fig. 12

Tightening Torque

CAUTION Torque specification must be followed.

Stock bolts (Exhaust Pipe: exhaust port)

Cap Bolt M8x40 (Silencer Bracket)

Button Bolt M6x20 (Silencer Bracket)

: 15 Nm

: 23 Nm

: 10 Nm

9) Check that there are proper clearances between Yoshimura exhaust system and other components. 

Then, tighten and torque stock bolts on Flange, Button Bolt M6x20 and Cap Bolt M8x40 in order (See Fig. 12 & 13).

10) Reconnect O2 sensor coupler.

Fig. 13Fig. 13

CAUTION When cleaning silencer, use soft cloth with dish soap. Do not use metal polish or parts cleaner. If 

neglect, the paint of Emblem may come off or Titanium Blue color may tarnish.

11) Make sure there are proper clearances between Yoshimura exhaust system and other components. In case there is 

not enough clearance, loosen bolts and readjust the position of Yoshimura exhaust system.

12) It is recommended that whole Yoshimura exhaust system is wiped down with dish soap to remove oil and 

fingerprints. This will prevent tarnishing of finish after the exhaust system is heated up.

13) Warm-up engine, and inspect the exhaust leakage.  Tighten all bolts further after engine is cooled down.

It is normal for new silencer to smoke until inside oil residue burns off.REFERENCE

CAUTION Before beginning the work, let motorcycle cool down.

14) Re-mount side and under fairings.

YOSHIMURA ASIA CO., LTD.    PRODUCT INSTALLATION INSTRUCTION  MANUAL

180612 RAIDER R150 TIS GP-MAGNUM 5/5

CAUTION

This exhaust is produced for street use only. In case that it is used on race circuit or tested on chassis dynometer, any 

damage or carbon discoloration is not included in warranty. 

Titanium Blue sleeve is colored by anodizing. Handle with care as the color may change. When cleaning silencer, use 

soft cloth with dish soap but do not use metal polish or chemical cleaner. 

CAUTION

REFERENCE

Yoshimura Asia recommends silencer inner wool replacement every 5,000km (3,000miles) in order to get Yoshimura 

exhaust performance fully. Climate, riding condition, and frequency of ride are direct contributing factors for inner wool 

worn out. Keeping high engine revolution also promotes further wool consumption. For silencer repairing, please contact 

local Yoshimura distributor for further information.

- CAUTIONS AFTER INSTALLATION -
Check each bolt sometimes to see that there is no failure condition such as poor tightening. 

Quality control is implemented on all products. If, however, any defect or failure is found, please notify Yoshimura Asia through 

the selling dealer. Necessary technical service or replacing of the product will be made.

Due to improvement, the specifications and price of the product are subject to change without notice.

For any information regarding this product, please address inquiries to Yoshimura Asia Co., Ltd.

        Yoshimura Asia Co., Ltd.

        118/3 Moo 18, KLONGNUENG, KLONGLUANG, PATHUMTHANI 12120, THAILAND

        Web site: http://www.yoshimura.asia



②サイレンサー

取り付けの詳細はFIG.10 

を参照して下さい

⑧マフラースプリング

Ｏ２センサーカプラー

３.取付方法

！注意 ※作業時は部品を損傷しないよう注意して作業を行なって下さい。

※ボルト、ナット締め付けの際は必ず規定トルクを守って下さい。

　ボルト、ナットの脱落・製品の破損の原因になります。

　１．セット内容を確認して下さい。

ＦＩＧ．１

ＦＩＧ．９

ＦＩＧ．１０

ＦＩＧ．１１

ＦＩＧ．１２

ＦＩＧ．８

ＦＩＧ．５

ＦＩＧ．４

ＦＩＧ．２

ＦＩＧ．３

　２．サービスマニュアルを参照して車両からサイドカウル、

　　　アンダーカウルを外し、純正マフラーのＯ２センサーの

　　　カプラーを外して下さい。

　　　次に、フレーム等を損傷しないように注意しながら純正

　　　マフラーを車両から取り外して下さい。

　　　（ＦＩＧ．１，２参照）

　４．エンジンの排気ポート部に取り付けられているエキゾー

　　　ストガスケットを新品に交換し、①エキゾーストパイプ

　　　を純正ボルトを使用して車両に仮締めして下さい。

　　　（ＦＩＧ．４，５参照）

　６．②サイレンサーを①エキゾーストパイプに取り付けてから⑧マフラースプリングを取り付けて下さい。

　　　（ＦＩＧ．８，９参照）

　３．純正マフラーからＯ２センサーを取り外し、①エキゾー

　　　ストパイプに規定トルクで締め付けて下さい。

　　　（ＦＩＧ．３参照）

純正ボルト

①エキゾーストパイプ

　７．②サイレンサーを⑦キャップボルトＭ８×４０、⑧平ワ

　　　ッシャＭ８×２６、純正ワッシャ、純正ナットを使用し

　　　て右側タンデムステップに仮締めして下さい。

　　　（ＦＩＧ．１０参照）

　８．サイレンサーの傾きや、車両とのクリアランスを調整し、

　　　仮締めしたボルト、ナットをエキゾーストパイプ→サイ

　　　レンサーステーの順に、規定トルクで締め付けて下さい。

　　　（ＦＩＧ．１１，１２参照）

　９．Ｏ２センサーのカプラーを取り付けて下さい。

規定トルク　エキゾーストパイプ　　　　　：１５Ｎｍ

　　　　　　サイレンサーステー（Ｍ６）　：１０Ｎｍ

　　　　　　サイレンサーステー（Ｍ６）　：２３Ｎｍ

！注意

１２．暖気運転を行なって排気漏れが無いことを確認し、エン

　　　ジンが完全に冷えてから各ボルトの増し締めを行なって

　　　下さい。

１１．取り外したカウルを元に戻して下さい。

１０．中性洗剤、ウエス等でマフラー全体を良く脱脂して下さ

　　　い。指紋などが付着したままエンジンを始動すると、色

　　　ムラとなって残ってしまうことがあります。

※メタルマジックカバーやエンブレムの色落ちの原因になり

　ますので、中性洗剤以外は使用しないで下さい。

！注意

車

両

内

側

車

両

外

側

車両前側から見た図

！注意 規定トルク　　Ｏ２センサー　　　　　　：２５Ｎｍ

①エキゾーストパイプ

Ｏ２センサー

①エキゾーストパイプ

①エキゾーストパイプ

②サイレンサー

①エキゾーストパイプ

Be sure to read the instruction carefully before starting the work. It is necessary to follow the contents to install Yoshimura product.

Parts Diagram

3.  Contents:

1.  Product Information :

SUZUKI RAIDER R150 TIS FULL SYSTEM GP-MAGNUM

Lot Number

1

2

4

5

6

8

9

7

3

TIS Number

Vehicle Name

No.                         Descriptions                                    Part No.         Q'ty   No.                Descriptions                          Part No.         Q'ty 

1

2

3

4 

5

6 

7 

8 

9

1T1-100-5U00

1T6-100-5U50

1T6-100-5U80

1T6-100-5U80B

1T6-100-5U90

161-366-0200-01

803-206-4020

812-206-1310 

823-006-1000

800-208-5040

812-108-2600

118-001-0000

Exhaust Pipe 

Silencer Assy Stainless Sleeve

Silencer Assy Titanium Sleeve 

Silencer Assy Titanium Blue Sleeve

Silencer Assy Carbon Sleeve

Silencer Bracket

Button Bolt M6x20 

Washer M6x13

Flange Nut M6

Cap Bolt M8x40

Washer M8x26 

Exhaust Spring

1 

1

1

2 

2 

2 

1 

1 

2

Part Number

Stainless Sleeve        (SS)

Titanium Sleeve         (ST)

Titanium Blue Sleeve (STB)

Carbon Sleeve           (SC)

: 1T0-100-5U50

: 1T0-100-5U80

: 1T0-100-5U80B

: 1T0-100-5U90

Description SUZUKI RAIDER R150 TIS Full System GP-MAGNUM Cyclone Type 

Main Material

S100SCI11 

Stainless steel

(SS)  

(ST) & (STB)

(SC)

: 2.5kg 

: 2.3kg

: 2.2kg

Weight
    [STD : 3.7kg]

2.  Applicable Model :

Model SUZUKI RAIDER R150

ＦＩＧ．７ＦＩＧ．６

④ボタンボルト

　M6×20

③サイレンサー

　ステー

⑤SUSワッシャ

　M6×13

⑥フランジナットM6

②サイレンサー

取り付けの詳細はFIG.7 

を参照して下さい

　５．②サイレンサーに④ボタンボルトＭ６×２０、⑤⑥ＳＵＳワッシャＭ６×１３、⑥フランジナットＭ

　　　６を使用して③サイレンサーステーを仮締めして下さい。（ＦＩＧ．６，７参照）

②サイレンサー

右側タンデム

ステップ

⑦キャップボルト

　Ｍ８×４０

純正ワッシャ

⑧平ワッシャ

　Ｍ８×２６

③サイレンサー

　ステー

純正ナット

Before beginning installation, let motorcycle cool down.

Titanium Blue sleeve is colored by anodizing. Handle with care as the color may change. When 

cleaning silencer, use soft cloth with dish soap but do not use metal polish or chemical cleaner. 

CAUTION

Be sure not to damage each part during installation. 

Torque specification must be followed. If neglected, it may cause bolt and nut to fall off and damage to 

Yoshimura product and motorcycle.

CAUTION

CAUTION

CAUTION

4.  Installation steps:

Fig. 1 Fig. 1 

Fig. 2Fig. 2

Fig. 3Fig. 3

Fig. 4Fig. 4 Fig. 5Fig. 5

180612 RAIDER R150 TIS GP-MAGNUM 2/5180612 RAIDER R150 TIS GP-MAGNUM 1/5 180612 RAIDER R150 TIS GP-MAGNUM 3/5 180612 RAIDER R150 TIS GP-MAGNUM 4/5

1) Check all the component parts are in hand.

2) According to SUZUKI service manual, remove side and 

under fairings.

3) Disconnect O2 sensor coupler. Then, remove stock 

exhaust system from vehicle (See Fig. 1 & 2).

4) Remove O2 sensor from stock exhaust system. Then, 

install it to Exhaust Pipe and tighten with stated torque 

(See Fig. 3).

5) Insert SUZUKI genuine new exhaust gasket on exhaust 

port. Then, insert Exhaust Pipe into exhaust port and fix it 

with stock bolts (See Fig. 4 & 5). Tighten bolts by hand 

only at this stage.

CAUTION When removing stock exhaust system, 

be careful not to damage frame and 

other components.

Stock bolts, washer and nut removed at 

this stage are reused when mounting 

Yoshimura exhaust system.

REFERENCE

O2 sensor coupler

O2 sensor

Tightening Torque

CAUTION Torque specification must be followed.

CAUTION Use SUZUKI genuine new gasket.

O2 sensor    : 25Nm

Exhaust Pipe

Exhaust Pipe

Exhaust Pipe Stock bolt

SUZUKI genuine new

exhaust gasket

6) Mount Silencer Bracket on Silencer Assy with 2 of each Button Bolt M6x20, Washer M6x13 and Flange Nut M6 

(See Fig. 6 & 7). Tighten bolts by hand only at this stage.

Fig. 6Fig. 6 Fig. 7Fig. 7

Silencer Bracket

Flange Nut M6

Silencer Assy

Washer M6x13

Button Bolt M6x20

Refer Fig. 7

for installation.

Silencer Assy

CAUTION Make sure that exhaust spring is hooked to spring installation tool firmly. If neglected, it may 

cause injury. 

7) Install Silencer Assy to Exhaust Pipe. Then, fix them with 2 of Exhaust Spring (See Fig. 8 & 9).

Fig. 8Fig. 8 Fig. 9Fig. 9

Silencer Assy

Exhaust Pipe

Exhaust SpringSilencer Assy

Exhaust Pipe

Fig. 10Fig. 10 Fig. 11Fig. 11

8) Then, mount Silencer Bracket to stock silencer bracket with Cap Bolt M8x40, Washer M8x26, stock washer and nut 

(See Fig. 10 & 11). Tighten bolt by hand only at this stage.

Refer Fig. 11

for installation.

OutsideInside

Sight from back

Silencer Bracket

Cap Bolt M8x40
Stock washer

Washer M8x26Stock silencer 

bracket

Stock nut

Fig. 12Fig. 12

Tightening Torque

CAUTION Torque specification must be followed.

Stock bolts (Exhaust Pipe: exhaust port)

Cap Bolt M8x40 (Silencer Bracket)

Button Bolt M6x20 (Silencer Bracket)

: 15 Nm

: 23 Nm

: 10 Nm

9) Check that there are proper clearances between Yoshimura exhaust system and other components. 

Then, tighten and torque stock bolts on Flange, Button Bolt M6x20 and Cap Bolt M8x40 in order (See Fig. 12 & 13).

10) Reconnect O2 sensor coupler.

Fig. 13Fig. 13

CAUTION When cleaning silencer, use soft cloth with dish soap. Do not use metal polish or parts cleaner. If 

neglect, the paint of Emblem may come off or Titanium Blue color may tarnish.

11) Make sure there are proper clearances between Yoshimura exhaust system and other components. In case there is 

not enough clearance, loosen bolts and readjust the position of Yoshimura exhaust system.

12) It is recommended that whole Yoshimura exhaust system is wiped down with dish soap to remove oil and 

fingerprints. This will prevent tarnishing of finish after the exhaust system is heated up.

13) Warm-up engine, and inspect the exhaust leakage.  Tighten all bolts further after engine is cooled down.

It is normal for new silencer to smoke until inside oil residue burns off.REFERENCE

CAUTION Before beginning the work, let motorcycle cool down.

14) Re-mount side and under fairings.

YOSHIMURA ASIA CO., LTD.    PRODUCT INSTALLATION INSTRUCTION  MANUAL

180612 RAIDER R150 TIS GP-MAGNUM 5/5

CAUTION

This exhaust is produced for street use only. In case that it is used on race circuit or tested on chassis dynometer, any 

damage or carbon discoloration is not included in warranty. 

Titanium Blue sleeve is colored by anodizing. Handle with care as the color may change. When cleaning silencer, use 

soft cloth with dish soap but do not use metal polish or chemical cleaner. 

CAUTION

REFERENCE

Yoshimura Asia recommends silencer inner wool replacement every 5,000km (3,000miles) in order to get Yoshimura 

exhaust performance fully. Climate, riding condition, and frequency of ride are direct contributing factors for inner wool 

worn out. Keeping high engine revolution also promotes further wool consumption. For silencer repairing, please contact 

local Yoshimura distributor for further information.

- CAUTIONS AFTER INSTALLATION -
Check each bolt sometimes to see that there is no failure condition such as poor tightening. 

Quality control is implemented on all products. If, however, any defect or failure is found, please notify Yoshimura Asia through 

the selling dealer. Necessary technical service or replacing of the product will be made.

Due to improvement, the specifications and price of the product are subject to change without notice.

For any information regarding this product, please address inquiries to Yoshimura Asia Co., Ltd.

        Yoshimura Asia Co., Ltd.

        118/3 Moo 18, KLONGNUENG, KLONGLUANG, PATHUMTHANI 12120, THAILAND

        Web site: http://www.yoshimura.asia



②サイレンサー

取り付けの詳細はFIG.10 

を参照して下さい

⑧マフラースプリング

Ｏ２センサーカプラー

３.取付方法

！注意 ※作業時は部品を損傷しないよう注意して作業を行なって下さい。

※ボルト、ナット締め付けの際は必ず規定トルクを守って下さい。

　ボルト、ナットの脱落・製品の破損の原因になります。

　１．セット内容を確認して下さい。

ＦＩＧ．１

ＦＩＧ．９

ＦＩＧ．１０

ＦＩＧ．１１

ＦＩＧ．１２

ＦＩＧ．８

ＦＩＧ．５

ＦＩＧ．４

ＦＩＧ．２

ＦＩＧ．３

　２．サービスマニュアルを参照して車両からサイドカウル、

　　　アンダーカウルを外し、純正マフラーのＯ２センサーの

　　　カプラーを外して下さい。

　　　次に、フレーム等を損傷しないように注意しながら純正

　　　マフラーを車両から取り外して下さい。

　　　（ＦＩＧ．１，２参照）

　４．エンジンの排気ポート部に取り付けられているエキゾー

　　　ストガスケットを新品に交換し、①エキゾーストパイプ

　　　を純正ボルトを使用して車両に仮締めして下さい。

　　　（ＦＩＧ．４，５参照）

　６．②サイレンサーを①エキゾーストパイプに取り付けてから⑧マフラースプリングを取り付けて下さい。

　　　（ＦＩＧ．８，９参照）

　３．純正マフラーからＯ２センサーを取り外し、①エキゾー

　　　ストパイプに規定トルクで締め付けて下さい。

　　　（ＦＩＧ．３参照）

純正ボルト

①エキゾーストパイプ

　７．②サイレンサーを⑦キャップボルトＭ８×４０、⑧平ワ

　　　ッシャＭ８×２６、純正ワッシャ、純正ナットを使用し

　　　て右側タンデムステップに仮締めして下さい。

　　　（ＦＩＧ．１０参照）

　８．サイレンサーの傾きや、車両とのクリアランスを調整し、

　　　仮締めしたボルト、ナットをエキゾーストパイプ→サイ

　　　レンサーステーの順に、規定トルクで締め付けて下さい。

　　　（ＦＩＧ．１１，１２参照）

　９．Ｏ２センサーのカプラーを取り付けて下さい。

規定トルク　エキゾーストパイプ　　　　　：１５Ｎｍ

　　　　　　サイレンサーステー（Ｍ６）　：１０Ｎｍ

　　　　　　サイレンサーステー（Ｍ６）　：２３Ｎｍ

！注意

１２．暖気運転を行なって排気漏れが無いことを確認し、エン

　　　ジンが完全に冷えてから各ボルトの増し締めを行なって

　　　下さい。

１１．取り外したカウルを元に戻して下さい。

１０．中性洗剤、ウエス等でマフラー全体を良く脱脂して下さ

　　　い。指紋などが付着したままエンジンを始動すると、色

　　　ムラとなって残ってしまうことがあります。

※メタルマジックカバーやエンブレムの色落ちの原因になり

　ますので、中性洗剤以外は使用しないで下さい。

！注意

車

両

内

側

車

両

外

側

車両前側から見た図

！注意 規定トルク　　Ｏ２センサー　　　　　　：２５Ｎｍ

①エキゾーストパイプ

Ｏ２センサー

①エキゾーストパイプ

①エキゾーストパイプ

②サイレンサー

①エキゾーストパイプ

Be sure to read the instruction carefully before starting the work. It is necessary to follow the contents to install Yoshimura product.

Parts Diagram

3.  Contents:

1.  Product Information :

SUZUKI RAIDER R150 TIS FULL SYSTEM GP-MAGNUM

Lot Number

1

2

4

5

6

8

9

7

3

TIS Number

Vehicle Name

No.                         Descriptions                                    Part No.         Q'ty   No.                Descriptions                          Part No.         Q'ty 

1

2

3

4 

5

6 

7 

8 

9

1T1-100-5U00

1T6-100-5U50

1T6-100-5U80

1T6-100-5U80B

1T6-100-5U90

161-366-0200-01

803-206-4020

812-206-1310 

823-006-1000

800-208-5040

812-108-2600

118-001-0000

Exhaust Pipe 

Silencer Assy Stainless Sleeve

Silencer Assy Titanium Sleeve 

Silencer Assy Titanium Blue Sleeve

Silencer Assy Carbon Sleeve

Silencer Bracket

Button Bolt M6x20 

Washer M6x13

Flange Nut M6

Cap Bolt M8x40

Washer M8x26 

Exhaust Spring

1 

1

1

2 

2 

2 

1 

1 

2

Part Number

Stainless Sleeve        (SS)

Titanium Sleeve         (ST)

Titanium Blue Sleeve (STB)

Carbon Sleeve           (SC)

: 1T0-100-5U50

: 1T0-100-5U80

: 1T0-100-5U80B

: 1T0-100-5U90

Description SUZUKI RAIDER R150 TIS Full System GP-MAGNUM Cyclone Type 

Main Material

S100SCI11 

Stainless steel

(SS)  

(ST) & (STB)

(SC)

: 2.5kg 

: 2.3kg

: 2.2kg

Weight
    [STD : 3.7kg]

2.  Applicable Model :

Model SUZUKI RAIDER R150

ＦＩＧ．７ＦＩＧ．６

④ボタンボルト

　M6×20

③サイレンサー

　ステー

⑤SUSワッシャ

　M6×13

⑥フランジナットM6

②サイレンサー

取り付けの詳細はFIG.7 

を参照して下さい

　５．②サイレンサーに④ボタンボルトＭ６×２０、⑤⑥ＳＵＳワッシャＭ６×１３、⑥フランジナットＭ

　　　６を使用して③サイレンサーステーを仮締めして下さい。（ＦＩＧ．６，７参照）

②サイレンサー

右側タンデム

ステップ

⑦キャップボルト

　Ｍ８×４０

純正ワッシャ

⑧平ワッシャ

　Ｍ８×２６

③サイレンサー

　ステー

純正ナット

Before beginning installation, let motorcycle cool down.

Titanium Blue sleeve is colored by anodizing. Handle with care as the color may change. When 

cleaning silencer, use soft cloth with dish soap but do not use metal polish or chemical cleaner. 

CAUTION

Be sure not to damage each part during installation. 

Torque specification must be followed. If neglected, it may cause bolt and nut to fall off and damage to 

Yoshimura product and motorcycle.

CAUTION

CAUTION

CAUTION

4.  Installation steps:

Fig. 1 Fig. 1 

Fig. 2Fig. 2

Fig. 3Fig. 3

Fig. 4Fig. 4 Fig. 5Fig. 5

180612 RAIDER R150 TIS GP-MAGNUM 2/5180612 RAIDER R150 TIS GP-MAGNUM 1/5 180612 RAIDER R150 TIS GP-MAGNUM 3/5 180612 RAIDER R150 TIS GP-MAGNUM 4/5

1) Check all the component parts are in hand.

2) According to SUZUKI service manual, remove side and 

under fairings.

3) Disconnect O2 sensor coupler. Then, remove stock 

exhaust system from vehicle (See Fig. 1 & 2).

4) Remove O2 sensor from stock exhaust system. Then, 

install it to Exhaust Pipe and tighten with stated torque 

(See Fig. 3).

5) Insert SUZUKI genuine new exhaust gasket on exhaust 

port. Then, insert Exhaust Pipe into exhaust port and fix it 

with stock bolts (See Fig. 4 & 5). Tighten bolts by hand 

only at this stage.

CAUTION When removing stock exhaust system, 

be careful not to damage frame and 

other components.

Stock bolts, washer and nut removed at 

this stage are reused when mounting 

Yoshimura exhaust system.

REFERENCE

O2 sensor coupler

O2 sensor

Tightening Torque

CAUTION Torque specification must be followed.

CAUTION Use SUZUKI genuine new gasket.

O2 sensor    : 25Nm

Exhaust Pipe

Exhaust Pipe

Exhaust Pipe Stock bolt

SUZUKI genuine new

exhaust gasket

6) Mount Silencer Bracket on Silencer Assy with 2 of each Button Bolt M6x20, Washer M6x13 and Flange Nut M6 

(See Fig. 6 & 7). Tighten bolts by hand only at this stage.

Fig. 6Fig. 6 Fig. 7Fig. 7

Silencer Bracket

Flange Nut M6

Silencer Assy

Washer M6x13

Button Bolt M6x20

Refer Fig. 7

for installation.

Silencer Assy

CAUTION Make sure that exhaust spring is hooked to spring installation tool firmly. If neglected, it may 

cause injury. 

7) Install Silencer Assy to Exhaust Pipe. Then, fix them with 2 of Exhaust Spring (See Fig. 8 & 9).

Fig. 8Fig. 8 Fig. 9Fig. 9

Silencer Assy

Exhaust Pipe

Exhaust SpringSilencer Assy

Exhaust Pipe

Fig. 10Fig. 10 Fig. 11Fig. 11

8) Then, mount Silencer Bracket to stock silencer bracket with Cap Bolt M8x40, Washer M8x26, stock washer and nut 

(See Fig. 10 & 11). Tighten bolt by hand only at this stage.

Refer Fig. 11

for installation.

OutsideInside

Sight from back

Silencer Bracket

Cap Bolt M8x40
Stock washer

Washer M8x26Stock silencer 

bracket

Stock nut

Fig. 12Fig. 12

Tightening Torque

CAUTION Torque specification must be followed.

Stock bolts (Exhaust Pipe: exhaust port)

Cap Bolt M8x40 (Silencer Bracket)

Button Bolt M6x20 (Silencer Bracket)

: 15 Nm

: 23 Nm

: 10 Nm

9) Check that there are proper clearances between Yoshimura exhaust system and other components. 

Then, tighten and torque stock bolts on Flange, Button Bolt M6x20 and Cap Bolt M8x40 in order (See Fig. 12 & 13).

10) Reconnect O2 sensor coupler.

Fig. 13Fig. 13

CAUTION When cleaning silencer, use soft cloth with dish soap. Do not use metal polish or parts cleaner. If 

neglect, the paint of Emblem may come off or Titanium Blue color may tarnish.

11) Make sure there are proper clearances between Yoshimura exhaust system and other components. In case there is 

not enough clearance, loosen bolts and readjust the position of Yoshimura exhaust system.

12) It is recommended that whole Yoshimura exhaust system is wiped down with dish soap to remove oil and 

fingerprints. This will prevent tarnishing of finish after the exhaust system is heated up.

13) Warm-up engine, and inspect the exhaust leakage.  Tighten all bolts further after engine is cooled down.

It is normal for new silencer to smoke until inside oil residue burns off.REFERENCE

CAUTION Before beginning the work, let motorcycle cool down.

14) Re-mount side and under fairings.

YOSHIMURA ASIA CO., LTD.    PRODUCT INSTALLATION INSTRUCTION  MANUAL

180612 RAIDER R150 TIS GP-MAGNUM 5/5

CAUTION

This exhaust is produced for street use only. In case that it is used on race circuit or tested on chassis dynometer, any 

damage or carbon discoloration is not included in warranty. 

Titanium Blue sleeve is colored by anodizing. Handle with care as the color may change. When cleaning silencer, use 

soft cloth with dish soap but do not use metal polish or chemical cleaner. 

CAUTION

REFERENCE

Yoshimura Asia recommends silencer inner wool replacement every 5,000km (3,000miles) in order to get Yoshimura 

exhaust performance fully. Climate, riding condition, and frequency of ride are direct contributing factors for inner wool 

worn out. Keeping high engine revolution also promotes further wool consumption. For silencer repairing, please contact 

local Yoshimura distributor for further information.

- CAUTIONS AFTER INSTALLATION -
Check each bolt sometimes to see that there is no failure condition such as poor tightening. 

Quality control is implemented on all products. If, however, any defect or failure is found, please notify Yoshimura Asia through 

the selling dealer. Necessary technical service or replacing of the product will be made.

Due to improvement, the specifications and price of the product are subject to change without notice.

For any information regarding this product, please address inquiries to Yoshimura Asia Co., Ltd.

        Yoshimura Asia Co., Ltd.

        118/3 Moo 18, KLONGNUENG, KLONGLUANG, PATHUMTHANI 12120, THAILAND

        Web site: http://www.yoshimura.asia



②サイレンサー

取り付けの詳細はFIG.10 

を参照して下さい

⑧マフラースプリング

Ｏ２センサーカプラー

３.取付方法

！注意 ※作業時は部品を損傷しないよう注意して作業を行なって下さい。

※ボルト、ナット締め付けの際は必ず規定トルクを守って下さい。

　ボルト、ナットの脱落・製品の破損の原因になります。

　１．セット内容を確認して下さい。

ＦＩＧ．１

ＦＩＧ．９

ＦＩＧ．１０

ＦＩＧ．１１

ＦＩＧ．１２

ＦＩＧ．８

ＦＩＧ．５

ＦＩＧ．４

ＦＩＧ．２

ＦＩＧ．３

　２．サービスマニュアルを参照して車両からサイドカウル、

　　　アンダーカウルを外し、純正マフラーのＯ２センサーの

　　　カプラーを外して下さい。

　　　次に、フレーム等を損傷しないように注意しながら純正

　　　マフラーを車両から取り外して下さい。

　　　（ＦＩＧ．１，２参照）

　４．エンジンの排気ポート部に取り付けられているエキゾー

　　　ストガスケットを新品に交換し、①エキゾーストパイプ

　　　を純正ボルトを使用して車両に仮締めして下さい。

　　　（ＦＩＧ．４，５参照）

　６．②サイレンサーを①エキゾーストパイプに取り付けてから⑧マフラースプリングを取り付けて下さい。

　　　（ＦＩＧ．８，９参照）

　３．純正マフラーからＯ２センサーを取り外し、①エキゾー

　　　ストパイプに規定トルクで締め付けて下さい。

　　　（ＦＩＧ．３参照）

純正ボルト

①エキゾーストパイプ

　７．②サイレンサーを⑦キャップボルトＭ８×４０、⑧平ワ

　　　ッシャＭ８×２６、純正ワッシャ、純正ナットを使用し

　　　て右側タンデムステップに仮締めして下さい。

　　　（ＦＩＧ．１０参照）

　８．サイレンサーの傾きや、車両とのクリアランスを調整し、

　　　仮締めしたボルト、ナットをエキゾーストパイプ→サイ

　　　レンサーステーの順に、規定トルクで締め付けて下さい。

　　　（ＦＩＧ．１１，１２参照）

　９．Ｏ２センサーのカプラーを取り付けて下さい。

規定トルク　エキゾーストパイプ　　　　　：１５Ｎｍ

　　　　　　サイレンサーステー（Ｍ６）　：１０Ｎｍ

　　　　　　サイレンサーステー（Ｍ６）　：２３Ｎｍ

！注意

１２．暖気運転を行なって排気漏れが無いことを確認し、エン

　　　ジンが完全に冷えてから各ボルトの増し締めを行なって

　　　下さい。

１１．取り外したカウルを元に戻して下さい。

１０．中性洗剤、ウエス等でマフラー全体を良く脱脂して下さ

　　　い。指紋などが付着したままエンジンを始動すると、色

　　　ムラとなって残ってしまうことがあります。

※メタルマジックカバーやエンブレムの色落ちの原因になり

　ますので、中性洗剤以外は使用しないで下さい。

！注意

車

両

内

側

車

両

外

側

車両前側から見た図

！注意 規定トルク　　Ｏ２センサー　　　　　　：２５Ｎｍ

①エキゾーストパイプ

Ｏ２センサー

①エキゾーストパイプ

①エキゾーストパイプ

②サイレンサー

①エキゾーストパイプ

Be sure to read the instruction carefully before starting the work. It is necessary to follow the contents to install Yoshimura product.

Parts Diagram

3.  Contents:

1.  Product Information :

SUZUKI RAIDER R150 TIS FULL SYSTEM GP-MAGNUM

Lot Number

1

2

4 5

6

8

9

7

3

TIS Number

Vehicle Name

No.                         Descriptions                                    Part No.         Q'ty   No.                Descriptions                          Part No.         Q'ty 

1

2

3

4 

5

6 

7 

8 

9

1T1-100-5U00

1T6-100-5U50

1T6-100-5U80

1T6-100-5U80B

1T6-100-5U90

161-366-0200-01

803-206-4020

812-206-1310 

823-006-1000

800-208-5040

812-108-2600

118-001-0000

Exhaust Pipe 

Silencer Assy Stainless Sleeve

Silencer Assy Titanium Sleeve 

Silencer Assy Titanium Blue Sleeve

Silencer Assy Carbon Sleeve

Silencer Bracket

Button Bolt M6x20 

Washer M6x13

Flange Nut M6

Cap Bolt M8x40

Washer M8x26 

Exhaust Spring

1 

1

1

2 

2 

2 

1 

1 

2

Part Number

Stainless Sleeve        (SS)

Titanium Sleeve         (ST)

Titanium Blue Sleeve (STB)

Carbon Sleeve           (SC)

: 1T0-100-5U50

: 1T0-100-5U80

: 1T0-100-5U80B

: 1T0-100-5U90

Description SUZUKI RAIDER R150 TIS Full System GP-MAGNUM Cyclone Type 

Main Material

S100SCI11 

Stainless steel

(SS)  

(ST) & (STB)

(SC)

: 2.5kg 

: 2.3kg

: 2.2kg

Weight
    [STD : 3.7kg]

2.  Applicable Model :

Model SUZUKI RAIDER R150

ＦＩＧ．７ＦＩＧ．６

④ボタンボルト

　M6×20

③サイレンサー

　ステー

⑤SUSワッシャ

　M6×13

⑥フランジナットM6

②サイレンサー

取り付けの詳細はFIG.7 

を参照して下さい

　５．②サイレンサーに④ボタンボルトＭ６×２０、⑤⑥ＳＵＳワッシャＭ６×１３、⑥フランジナットＭ

　　　６を使用して③サイレンサーステーを仮締めして下さい。（ＦＩＧ．６，７参照）

②サイレンサー

右側タンデム

ステップ

⑦キャップボルト

　Ｍ８×４０

純正ワッシャ

⑧平ワッシャ

　Ｍ８×２６

③サイレンサー

　ステー

純正ナット

Before beginning installation, let motorcycle cool down.

Titanium Blue sleeve is colored by anodizing. Handle with care as the color may change. When 

cleaning silencer, use soft cloth with dish soap but do not use metal polish or chemical cleaner. 

CAUTION

Be sure not to damage each part during installation. 

Torque specification must be followed. If neglected, it may cause bolt and nut to fall off and damage to 

Yoshimura product and motorcycle.

CAUTION

CAUTION

CAUTION

4.  Installation steps:

Fig. 1 Fig. 1 

Fig. 2Fig. 2

Fig. 3Fig. 3

Fig. 4Fig. 4 Fig. 5Fig. 5

180612 RAIDER R150 TIS GP-MAGNUM 2/5180612 RAIDER R150 TIS GP-MAGNUM 1/5 180612 RAIDER R150 TIS GP-MAGNUM 3/5 180612 RAIDER R150 TIS GP-MAGNUM 4/5

1) Check all the component parts are in hand.

2) According to SUZUKI service manual, remove side and 

under fairings.

3) Disconnect O2 sensor coupler. Then, remove stock 

exhaust system from vehicle (See Fig. 1 & 2).

4) Remove O2 sensor from stock exhaust system. Then, 

install it to Exhaust Pipe and tighten with stated torque 

(See Fig. 3).

5) Insert SUZUKI genuine new exhaust gasket on exhaust 

port. Then, insert Exhaust Pipe into exhaust port and fix it 

with stock bolts (See Fig. 4 & 5). Tighten bolts by hand 

only at this stage.

CAUTION When removing stock exhaust system, 

be careful not to damage frame and 

other components.

Stock bolts, washer and nut removed at 

this stage are reused when mounting 

Yoshimura exhaust system.

REFERENCE

O2 sensor coupler

O2 sensor

Tightening Torque

CAUTION Torque specification must be followed.

CAUTION Use SUZUKI genuine new gasket.

O2 sensor    : 25Nm

Exhaust Pipe

Exhaust Pipe

Exhaust Pipe Stock bolt

SUZUKI genuine new

exhaust gasket

6) Mount Silencer Bracket on Silencer Assy with 2 of each Button Bolt M6x20, Washer M6x13 and Flange Nut M6 

(See Fig. 6 & 7). Tighten bolts by hand only at this stage.

Fig. 6Fig. 6 Fig. 7Fig. 7

Silencer Bracket

Flange Nut M6

Silencer Assy

Washer M6x13

Button Bolt M6x20

Refer Fig. 7

for installation.

Silencer Assy

CAUTION Make sure that exhaust spring is hooked to spring installation tool firmly. If neglected, it may 

cause injury. 

7) Install Silencer Assy to Exhaust Pipe. Then, fix them with 2 of Exhaust Spring (See Fig. 8 & 9).

Fig. 8Fig. 8 Fig. 9Fig. 9

Silencer Assy

Exhaust Pipe

Exhaust SpringSilencer Assy

Exhaust Pipe

Fig. 10Fig. 10 Fig. 11Fig. 11

8) Then, mount Silencer Bracket to stock silencer bracket with Cap Bolt M8x40, Washer M8x26, stock washer and nut 

(See Fig. 10 & 11). Tighten bolt by hand only at this stage.

Refer Fig. 11

for installation.

OutsideInside

Sight from back

Silencer Bracket

Cap Bolt M8x40
Stock washer

Washer M8x26Stock silencer 

bracket

Stock nut

Fig. 12Fig. 12

Tightening Torque

CAUTION Torque specification must be followed.

Stock bolts (Exhaust Pipe: exhaust port)

Cap Bolt M8x40 (Silencer Bracket)

Button Bolt M6x20 (Silencer Bracket)

: 15 Nm

: 23 Nm

: 10 Nm

9) Check that there are proper clearances between Yoshimura exhaust system and other components. 

Then, tighten and torque stock bolts on Flange, Button Bolt M6x20 and Cap Bolt M8x40 in order (See Fig. 12 & 13).

10) Reconnect O2 sensor coupler.

Fig. 13Fig. 13

CAUTION When cleaning silencer, use soft cloth with dish soap. Do not use metal polish or parts cleaner. If 

neglect, the paint of Emblem may come off or Titanium Blue color may tarnish.

11) Make sure there are proper clearances between Yoshimura exhaust system and other components. In case there is 

not enough clearance, loosen bolts and readjust the position of Yoshimura exhaust system.

12) It is recommended that whole Yoshimura exhaust system is wiped down with dish soap to remove oil and 

fingerprints. This will prevent tarnishing of finish after the exhaust system is heated up.

13) Warm-up engine, and inspect the exhaust leakage.  Tighten all bolts further after engine is cooled down.

It is normal for new silencer to smoke until inside oil residue burns off.REFERENCE

CAUTION Before beginning the work, let motorcycle cool down.

14) Re-mount side and under fairings.

YOSHIMURA ASIA CO., LTD.    PRODUCT INSTALLATION INSTRUCTION  MANUAL

180612 RAIDER R150 TIS GP-MAGNUM 5/5

CAUTION

This exhaust is produced for street use only. In case that it is used on race circuit or tested on chassis dynometer, any 

damage or carbon discoloration is not included in warranty. 

Titanium Blue sleeve is colored by anodizing. Handle with care as the color may change. When cleaning silencer, use 

soft cloth with dish soap but do not use metal polish or chemical cleaner. 

CAUTION

REFERENCE

Yoshimura Asia recommends silencer inner wool replacement every 5,000km (3,000miles) in order to get Yoshimura 

exhaust performance fully. Climate, riding condition, and frequency of ride are direct contributing factors for inner wool 

worn out. Keeping high engine revolution also promotes further wool consumption. For silencer repairing, please contact 

local Yoshimura distributor for further information.

- CAUTIONS AFTER INSTALLATION -
Check each bolt sometimes to see that there is no failure condition such as poor tightening. 

Quality control is implemented on all products. If, however, any defect or failure is found, please notify Yoshimura Asia through 

the selling dealer. Necessary technical service or replacing of the product will be made.

Due to improvement, the specifications and price of the product are subject to change without notice.

For any information regarding this product, please address inquiries to Yoshimura Asia Co., Ltd.

        Yoshimura Asia Co., Ltd.

        118/3 Moo 18, KLONGNUENG, KLONGLUANG, PATHUMTHANI 12120, THAILAND

        Web site: http://www.yoshimura.asia

After Installation


